%V Icsp

1<

STB DB1
RIW DBO

115 mer
2 10| +5v
JL_O GND
“to|reo
5 1o
615
+5V RJ25
12MHz ‘I: PIC18F14K50
220 2 L vdd Vss 20
P [ 4 RA5/0SC1 10
+5V [} D+/PGD/RAO[= -
[y RA4/AN3/OSC2  D-/PGC/RAL
Vusbt =
10K 4 UL 5
MCLR/RA3 I 470Q x 3
5 1BV o
. RC5/CCP1 AN4/INTO/RCO o {>\0‘—'W‘—
—7R04 AN5/INT1/RC1 m {>\Q‘—\NV‘—
5 |RC/ANTIPGM  ANG/INT2IRC2[=— ™ ]
9—Rce/ANs/ﬁANlo/sm/snA/Rth - <
o |[RCT/AN9ISDO  ANLLRX/RBS ==
RB7/TX SCK/SCL/RB6 |-
‘
(o]
o
~
<
ig DB7 +5V ;
12 DB6 Contrast 2>
11]°8s GND=T 5K
PB4 DB3 [~
RS DB2
6 8
5 7




